Math

06/01/2020
Student Name:
Class:
Date:
Instructions: Read each question carefully and select the correct answer.

1. Sophie had 36 cookies. She ate 4 of them as a snack. How would you figure out how many cookies
Sophie has now?

40 - 4 = 36 cookies
40 + 4 = 44 cookies
36 - 4 = 32 cookies
36 + 4 = 40 cookies

Cow>

2. Myra and her dog lost 3 balls at the park last month. They also lost 4 balls at the park this month.
How would you figure out how many balls Myra and her dog lost at the park altogether?

A 4 -3=1hall

B. 7 -4 =3 balls
C. 3+4=7halls
D 4 +1 =5 balls

3. Rita's school activities are listed below.

Reading| 1st
Art 2nd
Recess | 3rd
WWiriting | 4th
Ilath Sth
Lunch | 6th
Science | Fth
Fecess | Bth
Tlusic Sth

What is Rita's ninth activity?

A. Music
B Reading
C. Recess
D Science
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Which plane will most likely be the 2nd to fly past the flag?

What is the greatest amount this paint can is able to hold?

4 gallons
2 gallons
2 gallons

1 gallons
0 gallons

A. 4 gallons
B. 3 gallons
C. 2 gallons
D. 1 gallon

A. 4 cups
B. 3 cups
C. 2 cups
D. 1cup
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Open House is from 6:00P.M. until 7:30P.M.  How long is Open House?

A. 2 hours

B. 2 hours 30 minutes
C. 1 hour

D. 1 hour 30 minutes

Ariel got to the birthday party at 2:00P.M.  She left the party at 4:30P.M. How long was Ariel at the
party?

A. 1 hour 30 minutes

B. 2 hours 30 minutes
C. 2 hours
D 1 hour

Put the objects in order from shortest to longest.

|
'
)

Put the objects in order from shortest to tallest.

ﬁs&**
NS ¢ **

B. **‘kﬁ
C. *‘k*i&
D. **ﬁ*
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11.

12.

13.

14.

15.

Add.
5
+3
A. 2
B. 6
C. 8
D. 7
Add.
3
+ 6
A. 9
B. 6
C. 8
D. 3
56
+ 28
A. 84
B. 55
C. 78
D. 69
19
+ 36
A. 55
B. 48
C. 59
D. 45

Kami picked 77 oranges on Saturday. On Sunday, she picked 55 more oranges.

How many oranges did she pick?

A. 132 oranges

B 22 oranges
C. 122 oranges
D 144 oranges
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16.

17.

18.

19.

20.

The monkey ate 7 bananas for lunch.
He ate 10 bananas for dinner.

How many bananas did the monkey eat?

A. 15 bananas
B. 10 bananas
C. 17 bananas
D. 19 bananas
Subtract.
5

-4
A. 1
B. 3
C. 2
D. 9
Subtract.

5

-2
A. 4
B. 7
C. 3
D. 2

73
- 29
A. 44
B. 48
C. 92
D. 102
92

-38
A. 54
B. 130
C. 62
D. 120
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21.

22.

23.

24.

25.

Mark has 21 toy trucks.
Huy has 7 toy trucks.

How many more trucks does Mark have than Huy?

oCOow»

7 trucks

14 trucks
15 trucks
28 trucks

59 oranges were in a basket.
25 were sold.

How many oranges were left in the basket?

Cow>

84 oranges
26 oranges
34 oranges
79 oranges

Which one is correct?

Cow>

113 >99
86<78
24 > 127
65 < 52

Which one is correct?

COow»

18<11
65 < 56
39<27
46 <51

What is the total amount of 4 quarters?

COow»

$1.00
$4.00
50¢
75¢
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26.

27.

28.

29.

What is the total of 25¢ and one quarter?

A

B.
C.
D.

26¢
50¢
30¢
45¢

Look at the picture and then answer the question.

|

1 2 3 4 5)

i

About how long is this shell?

Cow>

45cm
4cm
3cm
5¢cm

About how wide is this world sticker?

T — T T T T T
34 5 6 7 8 9 10 11

COow»

3cm
5¢cm
2cm
4cm

What temperature does the thermometer show?

COow»

13°
11.5°
11°
15°
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30.

31.

32.

33.

What temperature does this thermometer show?

A 86°
B. 83°
C 98°
D 85°

What time does this clock read?

A 12:10
B. 2:50
C. 1:50
D. 1:10

What time is it?

112 1
10
9 3
8 4

7 6 5
A. 6:00
B. 12:30
C. 6:30
D. 12:00

What are the next three numbers?

97,98,99, _ , _,
A 97, 98, 99
B. 94, 95, 96
C. 100, 101, 102
D. 101, 102, 103
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34.

35.

36.

37.

38.

What are the next three numbers?

72,73,74, _ , __,
A 75,76, 77
B. 72,73, 74
C. 76,77, 78
D. 74,75,76

Which number below matches this word?

TWO HUNDRED FORTY-THREE

A 20,043
B. 243

C. 200,403
D. 234

Choose the word name for 54.

A forty-five
B. five-four
C. five tens forty
D fifty-four

How many eyes are on these cats?

DA D4 P4 D4 B4
CONCONCONCONCE

A. 5sets of 2
B. 5setsof 1
C. 2 sets of 2
D. 2setsof 5
How many stars?
A. 2 sets of 3
B. 2 sets of 1
C. 3 sets of 2
D. 3 sets of 3
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39.

40.

41.

42.

43.

44,

Which number is LESS THAN the other?

23 or 51
A. 23
B. 51

C. They are equal.

Which is GREATER?

13 or 31
A. 13
B. 31

C. They are equal.

Find the expanded form: 301.

A. 300+1

B. 300 + 10

C. 30+10

D. 300+10+0

What number is expressed by 300 + 60?

A 3,060
B. 306
C. 360
D. 3,600

Round the number 68 to the nearest ten.

A 65
B. 69
C. 60
D 70

Round the number 93 to the nearest ten.

A 80
B. 85
C. 90
D. 97
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45.

46.

47.

48.

Which choice shows the correct way to count by 5's?

A 20, 30, 40, 50, 60
B. 20, 25, 30, 40, 45
C. 20, 25, 30, 35, 40
D. 20, 25, 35, 45, 55
Count by 4's.

Complete the pattern.
4,8,12,16,20, _, _, _,36
A. 24, 28, 32

B. 22,26, 29

C. 28, 30, 34

D. 26, 28, 32

Look at the chart and then answer the question.

Adelina's Homework ﬁ=] hour
Mion | Tues.[Wed. | Thurs.

|
IHomework tﬂ@‘@ ‘ |@@@

Which night of the week did Adelina have the most homework?

A. Monday

B. Tuesday

C. Wednesday
D. Thursday

Look at the chart and then answer the question.

Time |Temperature

10 sec.| 70 degrees

20 sec.| 78 degrees

30 sec.| 83 degrees
40 sec.| S0 degrees

At what time was the temperature the lowest?

A. 10 sec.
B. 20 sec.
C. 30 sec.
D 40 sec.
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49.

50.

51.

52.

53.

What is the missing SYMBOL?

a
=
wmo

th
(=]

COw>
X o+

What is the missing DIGIT?

191
+os
B97T
A. 5
B. 6
C. 7
D. 8

Complete the pattern.

44,46,48, _ ,
A 49, 50, 51
B. 50, 52, 54
C. 48, 49, 50
D. 50, 51, 52

Are these numbers odd or even?
12, 14, 16, 18, 20

A. odd
B. even

What is the missing number?

s+1=[]+8

CoOw>
N ©
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54,

55.

56.

S7.

58.

What is the missing number?

10+3 = 3+ []
A. 10
B. 13
C. 7
D. 3

Replace the ? with a plus (+) or a minus (-) sign.

573=8
A +
B. -

Replace the ? with a plus (+) or a minus (-) sign.

672=4
A +
B. -

Which number comes right AFTER this number?

17

A 20
B. 15
C. 18
D. 10

Which number comes right BEFORE this number?

27

A 28
B. 29
C. 26
D. 25
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59.

60.

61.

What shape is the ball?

A. pyramid
B. cone

C. cylinder
D. sphere

What shape is this soda pop can?

A. cone

B. sphere
C. cube

D. cylinder

Which shape comes next in the pattern?

2,010 C

A.

N\

©

¢
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62.

63.

64.

65.

Which shape comes next?

Sk Josk 10 - o8

.
B.

. ¥
. ¥
A. diamond
B. square
C. oval
D. triangle
A. square
B. rectangle
C. diamond
D. kite

Which two figures are exactly the same size and shape?

A4

A. 2and 7
B. 1and 8
C. 3and 6
D. 2and 5

Page 15



66.

67.

Which two figures are exactly the same size and shape?

A. 3and 4
B. land?2
C. 4and5
D. land 6

Which group of coins shows the most money?
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68.

69.

70.

Who has the most money?

A.
B.
C.
D.
Subtract.
35
- 12
A. 23
B. 33
C. 21
D. 31
Subtract.
88
- 32
A. 65
B. 66
C. 55
D. 56

Page 17



71.

72.

73.

Which shape belongs in the box?

o wm >

Which item in the box does NOT belong?

©: e

~ W
B. Qu%
c. >
p.

Pick the picture that shows more than half of the parts are shaded gray.
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74.

75.

Pick the picture that shows almost one whole is shaded black.
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76.

77.

Which picture shows 4 equal parts?

Pick the picture that shows 3 out of 4 parts are shaded.
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78.

79.

80.

Pick the picture that shows 2 out of 4 parts are shaded.

Annie is naming her dog. If she picks one of the names below out of a hat without looking, which
would be true?

|Prmcess | I Snowy I I Flower I

5
is least likely to be picked
is more likely to be picked than oW .

|Pn.ncess| | Snowy I | Flower |
s , and

Fl
is most likely to be picked.

are equally lilkely to be picked.

c o w >

Jonas is making a necklace. These beads are in the bead box. If one bead falls out of the box, which
would be true?

Ois more likkely to fall out than

iz less likely to fall out than.

., andOarE equally hikely to fall cut

. is more likely to fall cut than<>.

© o w >
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81.

82.

83.

84.

Which number sentence belongs in the fact family for 8, 15, and 23?

A 15-8=7
B. 12-8=4
C. 8+23=31
D. 8+15=23

Which number sentence belongs in the fact family for 30, 17, and 13?

A 17-13=4
B. 43-13=30
C. 13+17=30
D. 13+30=43

Pick the square that is cut in thirds.

The hat is cut in

A. fourths
B. thirds
C. half

D. fifths
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